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_ LN ST. VIVEKANAND LOTUS VALLEY PUBLIC SCHOOL

Winter Holidays Homework

Class — VIII

This PDF contains assignments for the following subjects:

English
Hindi
Mathematics

Science
Social Science *
Punjabi
Sanskrit
Computer Science
General Instructions :
e Complete all assignments neatly and on time.

e Use your own words and avoid plagiarism.

e Show all your work, especially for math problems.

e Present your work in a clear and organized manner.

e Use A4 size paper for written assignments.

e For creative projects, use your imagination and be original.
e If you have any questions, please contact your teacher.

"Explore, learn, and have fun with these holiday

homeworK_activities!"
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About Winter

Winter is a season of beauty, marked by frosty mornings, snowy

landscapes, and holiday cheer. It’s a time to embrace the cold while
finding joy in activities that warm the heart. From outdoor adventures
to cozy moments at home, winter offers something for everyone.
Let’s explore some creative and fun ideas to make your winter truly ;

memorable.
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Subject — English
Do assignments (15 Sentences on each Topic) by yourself

Determiners

Tenses

Modals

Non finite

Voice

Reported Speech
Subject Verb Agreement

Compile all the assignments in file.

English Literature :
Revise Ch 7 to 11 Full
Book Ex. + Ref. to Context

Do this work in fair notebook
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Subject — Mathematics
Revision work - Revise ch- 2,7 ,8,9,10,13,14,15 and 16 full with MCQ , formulas, Define, case study
based Question and Assertion-Reason Questions.
Written work : Do Revision assignment of mathematics in mathematics 's notebook.
Write all formulas of final term chapters on assignment sheet .
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Revision Assignment - 1

1. Solve the following:
i)0.16 (5x-2)=04x+9

ii)Effl__li__:‘_%

iii) (2x -3) - (4x +5) =3

4 ‘ iv)(5z-7)-2 (92 -11) = 4 (82 - 13) - 17 “I
V) X/2 +X/3 - x/4 =7
vi) 3x48 Ax+ A
dx +2 4x+7
L e
Zx+4 &
*; 4. The present age of Ankur And Aryan are in the ratio 1: 2 .Three years from now , the ratio of their ageswill be 3:5 . *!

w

Find their present age .

5. The base of an isosceles triangle is 4/ 3 cm. The parimeter of triangle is 62/15 cm. What is the length of the either of
remaining equal sides?

6. Distance between two places A and B is 690 km. Two car start simultaneously from A and B towards each other and
the distance between them after 6 hours is 30 km. If the speed of one car is less than other by 10 km/hr , find the
speed of each car.

7. The sum of three consecutive multiples of 11 is 363. Find these multiples.

8. The sum of two digit number is 12. When we interchange the digit it is found that the resulting new number is greater
than the original number by 18 , what is the two digit number?

9. A money box contains one rupees and two rupees coins in the ratios 5:6. If the total value of coins in the money box

her daughter . find their present age.
12. The numerator of a number is 3 less than its denominator.If Numerator increase by 1 and denominator increases by 3

the number become 1/2. Find the fraction.

is Rs. 85, fine the number of two rupees coins.

10. A steamer ,going downstream in river ,cover the distance between two towns in 15 hours . Coming back upstream it
cover the distance in 20 hours. The speed of water is 3 km/h. Find the distance between two towns.

11. Five year ago A mother was seven times as old as her daughter. Five years hence ,she will be three times as old as
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Revision Assignment - 2
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Revision Assignment — 3
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Revision Assignment — 4
SURFACE AREAAND VOLUME

l. An underground water tank is in the shape of cube of side 7 m. What will be its volume?

2, What will be volume of a box whose length |6 m, breadth 8 m and height is 5 m?

2, The length, breadth and height of a room are 12 m, 10 m, and 9m respectively. Find the area
of four walls of room.

4, The volume of a cube is 27,°. Find the length of its edge.

3, How much Aluminium sheet will be required to make a container with lid whose length 1s
13 m, breadth is 8 m and height is 4 m?

6. The volume of a cube is 1331 on’ - Find the length of its edge.

T. The length of diagonal of a cube is 17.32 cm. Find the volume of that cube.

Three cubes whose sides are 6 cm, 8 cm and 10 cm. They are melted and formed a cube,
Find the volume of that cube,

Two cubes have edge 10 m. Their edges have been joined and form a cuboid. What will be
the surface area of cuboid thus formed.

The total volume of a cube is 512 cubic cm. Find the side of a cube,

A rectangular box 14 em long, 10 em wide and 5 cm high is to be made with card-board.
Find the area of card-board to make that box.

What will be the volume of a cylindrical tank whose radius is 7 cm and height is 5 cm?

-
How many solid spheres of I radius can be made from a solid sphere of 2 cm radius?

14. If the volume and surface area of a sphere is numerically same then what will be its radius.

15.  The volume of a right circular cylinder is 392 5 cm’ and its height is 8 cm. Find the radius.

6.  The surface area of a sphere is 44% ¢ om® - Find its radius.

AL 8 A U8 A 8 L 8 L S L8 L 8 L  n L e e L o
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Revision Assignment — 5
DATA HANDLING AND PROBABILITY
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Rapresan the above informalion by 8 pas chaeri
14, VWinial is the probabiily of gablng a marbie whisch s nol red from 8 bag comaning 3 black, B
yallon, 32 red mred 5 while martsles 7 —
15, From a wall shufMad deck of 52 playeng cards. a cand 8 aaleciad al random. Find the _
probabilty of getbng
(il & black cand
(] & black king
(i) an mos
(i) & card of diamaond
18, A die is thrown Wihal (s the probability of getling
(i} an evan numbesr?
(i) mn odd nurmiber?
(iil} A namibser betwean 3 and 87
17. What is the probability of a number selected from the numbers 1, 2, 3 20 such
that it is a prime number?
18. A bag contains 3 blue and 2 red balls. A ball is drawn al random. What s the
e probability of drawing & red ball?
18, A group of students was asked for their favorite subject. The results werne lisled as
under Art, Mathematics, Science, English, Mathematics, Arl. English, Mathematics
English; &rl, Science A, Scence, Scoence, Mathematics, Arl. English. A, Soence
Mathematica. Sclence, Art
Answer (he lollowing guestions
(i} Which is the mosi liked subject?
(i) Wihich is the leas] liked subject? =

20. What is the number of students of Ciass Vil whose marks oblained in an
examnation are expressed in the following frequency distnbution
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29 . Thee marks scored by 20 studends it a lest are given bolows
B4 BF. 53 BO 471 87 AT G4, 08 44 83 T 81, TE. 7. 02 56, 68, 54, 42
Complete the following reguency table

Bl e e baw s il w ol Tty Bl b Mo ol mtusalasrils

(i} What is the upper kil of $0-507

(i} What is the upper Bmit of 70807

L) vhal is the class sire?

Z2 PéurTeter of wenrkRops organcoesd by & school n differsent aress during e lael six
years are as follows

g Years Mumber of workers
199293 30
199304 25
195495 48
- 199596 50 -
1996—97 45
1997 -98 20

Diraew & histogram repressnting the datos
Z3. Dwanwe & Furm g r are Tear BRas dAily afarrurgs af 30 gearesral stores gpivear ri 1P Tallowang

Tkabes
Daily earnings {(in @s) Humber of general stores
14501500 A4
1 50— 1 &5 10
1 550-— 1600 =
16001650 18
16501700 5

24 The number of students admitted in different facuities of a college are given belaw

Faculry Commerce | Arts | Science | Lew | Compuier | Toial
Humber of shudenls 450 300 | 1X0 | 1000 650 3600
- Represent the above information by a pie-chan ~

25, Draw a pie-chart for the foliowing data of expenditure on varous ilems in a family

tem Food | Clothing | Rent | Education | Miscellaneous
Expenditure | 15000 | 5000 14000 | 20000 6000
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Subject — Science

Assertion- change in height , voice , in body shape are the sign of puberty.
Reason- the several changes are observe during adolescence are called puberty.
Assertion- Girls have high pitched voice , whereas boys have a deep voice.
Reason- Because the voice is depend upon the growth of larynx.

Assertion- endocrine glands called ductless glands.

Reason- they don’t release hormones directly into the blood streams.
Assertion- the growth of hairs on face that is moustaches and beard.

Reason- this is primary sexual characters in male.

Assertion- the changes which occurs at adolescence are controlled by hormones.
Reason- hormones are chemical substances secretion from endocrine glands.
Assertion- reproductive life of a woman lasts from menarche to menopause.

Reason- menarche is the starting phase of menstruation and menopause is the stoppage of
menstruation.

Assertion- there are 23 pairs of chromosomes in human body.
Reason- chromosomes is a thread like structure present in nuclei of the cell.

Assertion — male chromosomes are responsible for the sex of new born baby.

Reason- female have similar pairs of X chromosomes and male have different XY chromosome.

Assertion- balanced diet is very important at the age of adolescence.

Reason- the meal include proteins , carbohydrates, fats and vitamins are known as balanced diet.

10) Assertion (A): Adolescents must watch out for what they eat.

Reason (R): A balanced diet is needed to meet the rapid growth requirements at the time of pubert

:
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Sound

ASSERTION: The loudness of sound depends on its amplitude.
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2)

3)

4)
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REASON: When the amplitude of vibration is large, the sound produced is loud. When the
amplitude is small, the sound produced is feeble.

ASSERTION :If the frequency of vibration is higher we say that the sound is shrill and has a
higher pitch.

REASON: The frequency determines the shrillness or pitch of a sound.

ASSERTION: The voice of children and adults are different in their voice.

REASON: This happens because the frequency of the voice of a child is lower than the adult .
Assertion (A): Astronauts cannot hear each other in space.

Reason (R): The loudness of sound depends on its amplitude.

Chemical Effects of Electric Current

1))

2)

3)

4)

5)

ASSERTION : why the bulb glows when the electric current passes through it.

REASON : Due to the heating effect of current, the filament of the bulb gets heated to a high
temperature and it starts glowing.

ASSERTION :The bubbles of a gas may be formed on the electrodes.

REASON : The passage of an electric current through a conducting solution causes chemical
reaction.

ASSERTION :If the current through a circuit is too weak the filament does not get heated
sufficient and it does not glow .

REASON: Well, though a material may conduct electricity, it may not conduct it as easily as a
metal. As a result, the circuit of the tester may be complete and yet the current through it may be
too weak to make the bulb glow.

ASSERTION :Tin cans, used for storing food, are made by electroplating tin onto iron.

REASON : Tin is more reactive than iron. Thus, food does come into contact with iron and is
protected from getting spoilt.

ASSERTION : Iron is used in bridges and automobiles to provide strength.

REASON: A coating of zinc is deposited on iron to protect it from corrosion and formation of rust.
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6) Assertion (A): Distilled water do not conduct electricity.

Reason (R): Glowing of a bulb is due to heating effect of electric current.

Some Natural phenomenon

1) Assertion- electrical charged can be transferred from a charged object to another through a metal
conductor.

Reason- Metal is a bad conductor of electricity.

2) Assertion- an earthquake is a sudden shaking or frembling of the earth which lasts for very short
time.

Reason- earthquake caused by a disturbance deep inside the earth crust.
3) Assertion- the sesimic waves are recorded by seismograph instruments.
Reason- the tremors produced waves on the surface of the earth called waves.

4) Assertion- lighting strikes could destroy life and property.

Reason- lighting conductors can protect buildings.

*. 5) Assertion (A): Electrical charged can be transferred from a charged object to another through a *

metal conductor.

Reason (R): Metal is a bad conductor of electricity.

Pollution of Air and Water

1) Assertion- the potable water is used for daily house cleaning work.
Reason- the water which purified and fit for drinking is known as potable water.

2) Assertion- An ambitious plan to save the river called Ganga Action Plan was launched in 1985.
Reason- the aim of this plan is to reduce the pollution levels in the river.

3) Assertion- the harmful substance like sewage, toxic chemicals, slit etc. get mixed with water and
become water polluted.

Reason- the substances which make water polluted are known as water pollutants.Reason- the
substances which make water polluted are known as water pollutants. Top of Form Bottom of
Form.

Reason- the substances which make water polluted are known as water pollutants.
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4) Assertion- the average temperature of the earth’s atmosphere is gradually increasing is called
Global warming.

Reason- the gases like methane , NO2, and water vapour also contribute towards the effect called
Green house effect.

Case study

1) Discovery of the CellRobert Hooke in 1665 observed slices ofcork under a simple magnifying
device.Cork is a part of the bark of atree. He took thin slices of cork andobserved them under a
microscope. food,respires,excretes,Growsandreproduces. Similar functions inmulticellular
organisms are carried outby groups of specialised cells formingdifferent tissues. Tissues, in turn,
formorgans. Youmay say that the shape appearsirregular. In fact, amoeba has nodefinite shape,
unlike other organisms.It keeps on changing its shape.Observe the projections of varyinglengths
protruding out of itsbody. These are called pseudopodia(pseudo: false; podia: feet). These
projectionsappear and disappear as amoebamoves or feeds.A white blood cell (WBC) in
humanblood is another example of a single cellwhich can change its shape. But whileWBC is a
cell, amoeba is a full-fledgedorganism capable of independentexistence. What shape would you
expect inorganisms with millions of cells?

Que. 1) Which among the following scientists coined the term “cell” for the very first time?

Que.2) Which are used to colour the parts of cell to study the detailed structure.

Que. 4) Define unicellular organisms and name one example.
Que. 5) Name some of the different shapes of cells that are observed.

2) In someanimals, the young ones may look verydifferent from the adults. Recall the lifecycle of the
silkworm (egg — larva orcaterpillar — pupa — adult) you studiedin Class VII. Frog is another
suchexample.Observe the different stages of frogstarting from the egg to the adult stage.We find
that there are three distinctstages, that is, egg — tadpole (larva) —adult. Don’t the tadpoles look
sodifferent from the adults? Can youimagine that these tadpoles would someday become frogs?
Similarly, thecaterpillar or the pupa of silkworm looksvery different from the adult moth.
Thefeatures that are present in the adult arenot found in these young ones. Then whathappens to
the tadpoles or caterpillarsthereafter?You must have seen a beautiful mothemerging out of the
cocoon. In the case oftadpoles, they transform into adultscapable of jumping and swimming.
Thetransformation of the larva into an adultthrough drastic changes is calledmetamorphosis.

Que. 1) The developing zygote called the embryo gets embedded in which part of the female
reproductive system?

Que. 2) Complete the missing stage in the life cycle of silkworm: egg— larva or caterpillar—........

Que. 3) Which among the following is NOT an example of viviparous animals?
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Que. 4) Define the term “metamorphosis”.
Que. 5) What do you mean by oviparous animals? Give one example.

3) Changes at Puberty: Increase in HeightThe most conspicuous change duringpuberty is the sudden
increase inheight. At this time the long bones, thatis, the bones of the arms and the legselongate
and make a person tall.Initially, girls grow faster than boysbut by about 18 years of age, both
reachtheir maximum height. The rate ofgrowth in height varies in differentindividuals. Some may
grow suddenlyat puberty and then slow down, whileothers may grow gradually.There is no need
for Paheli to worry.All parts of the body do not grow at thesame rate.

Que. 1) The protruding part of the throat usually seen in boys that is responsible for deep voice is
known as?

Que. 2) Which of the following is a change in body shape usually observed in girls?

Que. 4) Describe the development of secondary sex organs in males.

Que. 5) Why do we observe acne or pimples on the face of young people at the age of adolescence?
4) Electroplating is the process of depositing a layer of any desired metal on another material by

means of electricity. It is one of the most common applications of the chemical effects of electric
current. Electroplating is widely used in industry for coating metal objects with a thin layer of a

* different metal. For example, chromium plating is done on many objects such as car parts, bath *

taps, kitchen gas burners, bicycle handlebars, and wheel rims. Chromium has a shiny appearance,
does not corrode, and resists scratches.

A) What is electroplating? Give Examples.
B) How electroplating can help in preventing rusting? Give example.

C) Describe the process of electroplating briefly.
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Subject — Social Science

.
l.

.

Fill in the blank: -

18 the third tier of the government.

was the president of the Constituent Assembly.

3. Nepal adopted constitution for the country in

4.The three organs of the government are

5.The father of the Indian Constitution is

and

I1. Choose the correct option.

l.

[ o ]

11

R

The constitution is (o us from ourselves.
a) Borrow b) lend ¢) send d) save
The Indian constitution was adopted in

a) 26" December 1949 ¢) 26™ October 1949
h) 26" January 1950 d) 26" November 1949 4
In which year did the Indian National Congress make the demand for a Constituent
Assembly?
a) 1935 h) 1936 ¢) 1938 d) 1937
Every state enjoys power and works under the
a) Monarchy ¢) Central government
) Dictatorship d) None of these
In 2005 which country adopted an interim constitution
) Pakistan b) Nepal ¢) Srilanka d) Bhutan

Answer the following questions: -

Define constitution.

Why did the people of Nepal want a new constitution?
When did Nepal establish democracy?

Define fundamental rights.

Who demanded for the constituent assembly?

What purpose does the constitution serves?
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4) Who were the Moderates? How did they propose to struggle against
British rule?

5) Why did Gandhiji called off the Non-cooperation movement?

6) People of India protested against Simon Commission. Give one reason.

E) Write short notes on.

a)Quit India Movement

b)lallianwala bagh Massacre

d)indian National Army

F) Write about the contribution of the following leaders in the National
Movement for Freedom of India.

a)Maulana Azad

b)C.Rajagopalchari

c)Sardar Vallabhbhai Patel

d)Mohammad =Ali =Jinnah

e)Jawaharlal Nehru
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12. What do you mean by fossil fuel and state its importance?
13. Where is petroleum found and how it is extracted?
14. What is natural gas?

15. How hydel power is generated?

Subject — Punjabi
Do all work in assignment sheets and learn it.
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Subject — Sanskrit
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Subject — Computer Science
Assignment

One-Word Questions (20 marks)

What is the basic building block of a webpage?

Which programming language is known as the "batteries included" language?
What does HTML stand for?

Name the tag used to create a heading.

What is a program that mimics human intelligence?

What is the output of print ("Hello Wor1d") in Python?

What is the tag used to create an unordered list?

What is the symbol used for comments in Python?

. What is a software designed to harm a computer system ?

10 What is the process of keeping your computer and data safe from threats?
11.What is the tag used to create a line break?

12.What is a strong password?

13.What is the tag used to make text bold?

14.What is a device used to connect to the internet?

15.What is the tag used to create a paragraph?

4
: :
: :
: :
: :
: :
§ §

OO NAU AW~

17.What is a type of malware that encrypts files and demands a ransom?
18.What is a technique used to gather sensitive information from users?
19.What is the importance of updating software?

20.What is a firewall?

Short Answer Questions (30 marks)

1. Mention two advantages of using HTML.

2. What are the basic data types in Python?

3. How can you protect yourself from phishing attacks?

4. What is the purpose of the <head> tag in HTML?

5. What is the purpose of the input () function in Python?

6. What are some common types of malware?

7. Why is it important to have a strong password?

8. What are some good practices for keeping your computer safe?
9. What is the importance of backing up your data?

10. How can you stay informed about cybersecurity threats?
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1.

. Describe the basic structure of an HTML document. (Include explanations o

. Write a short Python program to calculate the average of three numbers. i
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Long Answer Questions (40 marks)

Explain the different types of cyber threats and how they can affect
individuals and organizations. (Discuss viruses, worms, Trojans, ransomware,
phishing, and social engineering)

tags like <ntml>, <head>, <body>, and their purposes)

(Explain the code and the logic involved)

Discuss the importance of cybersecurity education and awareness in today's
digital world. (Explain how to promote good cyber hygiene habits among
individuals and communities)

Investigate and report on a recent cybersecurity incident and its impact.
(Research a specific case study and analyze the causes, consequences, and
lessons learned)
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